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Lesson 1

Add by making 10
I have found

| Discover _ 577

I have found

0 a) How many i? have the children found in the

classroom altogether?

b) There are some i? still hidden in the classroom.

Find them. What is the total number of i}?
20

| share JS8

" I predict the answer will

We need to be greater than 10. I will
work out 7 + 5. start by making 10.
(0000 e " O[0|00|0 &
00
7 + 5 =7
(0000 e + @][®)
O0EEe
10 + 2 =12
7+3=10
042 =12 I will add 3 to \
make 7 up to 10. 5
> 3
7+5=12

The children found 12 i} altogether.
b) There are 3 i? hidden in the classroom.

[“y’\(“\ 00000 [ee0l00
eeeee |

2 | 13 |14 |15 |12+3=15 _
in

I think of it

There are I5 total. as 10 + 5.




Lesson 1

Add by making 10

22

Freddie found 8 @ last week.

He found 4 @ this week.

How many @ did Freddie find in total?

elelejejen Il LI
Qo

i)
Freddie found D @ in total.

e How many beads altogether?

There are

e Add 6 and 5 by making 10.

+

@)(e)(®)

O

©)

6

+

6+D 10
o+s=(]

5

Add 4 to make
6 up to 10.

O

beads altogether.

]
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Lesson 2

Subtraction - crossing the 10

Discover J

o a) How many players are there altogether?

How many players are injured?

How many players are not injured?

b) There are I5 % of water.
9 players drink one @ each.
How many @ are there left?
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b)

There are Il players.

4playersareinjured. g 718 (9a 10| |12
nN-4=7
There are 7 players not injured.

OO0 00000
0eoeee |
ooo00 o808 ~
00eee | We can break 9
o I5-5=10 Into two parts.
We subtract 5

I:: :I: :} , first, then 4.
0-4=6 *ij

I5-5=10

0-4=6

So

I5-9=6

There are 6 % left. Why did we

subtract 5 first?




Lesson 2

Subtraction - crossing the 10

<9\ There are I3 @1 5 @' fly away. ‘ ‘( ‘ ‘ ’(
@' are there left? ‘ ’ ’
] l 8888

How many

1I3-3=

0-2=
So

—

—

©l00/0](010 5|_

I3-5=

There are [:] @g left.

12 -

o-[ =

So
2-8=

i There are 12 O

8 O are used to make a cake.
How many O are there left?
=10

]

There are O left.
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€) o) Workout I5 - 4.

s-()-
-

I5-9=

b) Work out Il - 6.

- | -|

©

0l9||©

©

0lo)(
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Lesson 3

Solving problems involving W
addition and subtraction

a) There are 8 /\g%@\ carrying a leaf.
There are 4 j%;@\ not carrying a leaf.
00 ®ee|oo
[@/@/@o[o
8+2=10
0+2=12 +2 +2
So =7s=3<==1|=o |=| |=2 |=3
8+4 =12

o
There are 12 }gf;;(\ in total.

b) There are 19 (/E inside ~ To work out how
% : he | L many more we must
0 a) How many fr are there in total? the log. it Uk e A Ferenes.
T There are 6 @); on the log. .f\ThIS |s;a subtraction.
b) There are I9 (> inside the log. 9-6=1I3
How many more L@E are there inside the log There are 13 more @‘;@ inside
than on the log? the log than on the log.

28 29



Lesson 3

Solving problems involving
addition and subtraction

(@
o Ellie has 12 @ She also has 6 .

How many pieces of fruit does she have in total?

_JOLJ-U]

Ellie has D pieces of fruit in total.

I 1 1 Il 1 ] Il 1 I Il 1l ] 1 1 |
I T T T T T Ll T T T T

1
T T T 1
5 6 7 8 9 10 I 12 13 14 15 16 17 18 19 20

o

g g W o i gl g g g g IR
W WX pReRakaiois

How many more i} does Brad have than Shelley?

JOL -]
Brad has j more ﬁ than Shelley.

5 6 7 8 9 10 I 12 13 14 15 16 17 18 19 20

30

9 a) There are 8 ¢
There are 5 more bees than *

How many bees are there?

OLI-L
There are :] bees.

L | I W S—
T N~ = s {
o I 2 3 4 5 6 7 8 9 10 I 12 13 14 15

b) There are 14 plates.
There are 6 fewer % than plates.
How many @ are there?

IO -]
Thereareg@:.

e Jamil plants Il seeds. 7 of the seeds grow into flowers.

How many seeds do not grow?

_JOL-
j seeds do not grow.

3l



Lesson 4

Comparing additions and subtractions

I can make each
calculation with cubes.

5

Discover J a)

coE™

Show me a question

i Il I I I 1 1 Il I 1 1 1 1 Il
T

ith anransaerthat o3 it eT el mushnE 2
. is greater than I5. N+3=14
| 4 <15
I+3<I5

Q [o(6(5]e[e(e)

01 23 456 7 89101l 1213141516 17 18 19 20

o a =

+ Q +
0

(o)) o w

2+6=18
18 > 15
2+6>15
¥

0123456789101 121314151617 181920
2+3=I5

0 a) Which child is correct?

12 +3

. y ’ 7 .
b) Whose answer is greater, Ben’s or Jacob’s? T —
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Lesson 4

Comparing additions and subtractions

(0 a) Match the diagram to the number sentence.

b) Complete using <, > or =.

||+30|2 ||+30||+|
||+|O||+2 ||+2©|0+3

@ a) Complete using <, > or =.

I2+6©I7 ||+5©|7
|3+40|7 |2+40|7

b) What numbers can go in the boxes?

2+5< I2+5>‘
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@ Complete using <, > or =.

@ Put a number in each box to make the statement

true. @

a) 6+1ll< 6+

b)I5+3> 5+

) I6-5<16-

Is there more than
“ one answer? Can

the same number

be used in each

question? /
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